Economics 101 Name [YNNOTATED [YE
Summer 2016

Second Midterm

June 13, 2016

This exam consists of three parts: I) ten binary choice questions each worth 2 points for a total of 20
points; II) twenty multiple choice questions worth 3 points each; and 1) two short answer problems worth
10 points each. All answers should be clearly and legibly recorded on the exam booklet: any answer that
is not legible will be counted as a wrong answer. All answers should be presented in a neat, logical
fashion in the short answer portion of the exam.

Honor Code Statement:

L , understand that it is important for me to do my own work. It is also
important that I not provide help, either intentionally or unintentionally, to my fellow students. Therefore
1 will keep my answers covered and I will not provide answers to my classmates or take answers from my
classmates. [ also acknowledge that on this exam I may not have access to a calculator or a cellphone.

(Signed)
Exam Score:
I; (20 points possible)
11. (60 points possible)
111 (Problem #1: 10 points possible)
(Problem #2: 10 points possible)
Total (100 points possible)




I. Binary choice (10 questions worth 2 points each, for a total of 20 points)

Casy
A7 h I/ﬁf 1. Suppose you are told that Matt made $20,000 in 2014 and $24,000 in 2015. You are also told
L; that the CPI in 2014 was 200 and in 2015 it was 250. From this information you conclude that
7&6 ymul/«  Matt's real income: Year  Now i cel foet Income Y
a. Rose in 2015. 2009 ¥2p000 200 red s 25LG0a>>/G00
(b)Fell in 2015, e 400 dso wel T 240900487 ia0
Cirg’ real mepmed b fow oty Y1675 28y

Dq{h hvasd 2. Consider a movie theater. The movie theater knows that if the price of tickets falls by 10%, the
quantity demanded of movie tickets increases by 5%. From this information you can conclude
that the absolute value of the price elasticity of demand is:

a. Greater than one. L & D0 A8 G 5 7 -
ess than one. 0 20 A7 = }_../070 T2

Use the graph below to answer the next question:

Price ] 03

10

Demand

100 x Quantity

gf‘tmf 7 3. For this question, consider the linear demand curve represented in the above graph. You are
#1d" told that the price elasticity of demand between the price of $10 and the price of $8 is equal to

[Bvtnot 65. Using the arc elasticity formula, what is the quantity demanded, x, given this information?
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Nor JH AT A7D
Somre 4. A representative firm in a perfectly competitive industry finds that it is currently producing

THRCHT 250 units of the good and selling these units for $5 per unit. The firm is also incurring production
Lequmey costs of $2200 at this level of production. Given this information and holding everything else

constant, you predict: 772 = P 2; s SCL S0 = /280
a./That firms will exit this industry in the long run. 7¢:z 2200
b. That more firms will enter this industry in the longrun. 77 <& 2 52 =D Sdwee /4 o
wel/ d-yt}[ h é/e
EALY - 5. Using 1983 as the base year, suppose that the CPI in 2014 is equal to 240 and the CPI in 2015

Tusr is equal to 300. You are asked to change the base year. Which of the following statements is true
Rescals v given the information you have been provided?
@)J sing 2014 as the base year and a one-point scale, the CPI in 2014 would be 1 and the CPI in
2015 would be 1.25.
b. Using 2015 as the base year and a hundred-point scale, the CPI in 2014 would be 90(and the /
CPI in 2015 would be 100, O wae/d foe &0 .

A )/ N 6. Consider an individual consumer with an income of $50, who consumes only two goods-
S/mpL&  apples that cost $2 per apple and peanut butter sandwiches that cost $2.50. Given this
Wﬁmﬁﬁf&m‘“- ormation, which of the following points lies beyond this individual's budget line?
OF L. 14 sandwiches, 8 apples
b. 8 sandwiches, 14 apples
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EM / " 7. Deadweight loss:
bEFIN(Tran/a. When it occurs only impacts consumers of the good‘.( dm.a,/fa RO /Wf
ElyRepresents the loss in total surplus when the market fails to produce the optimal amount of the

good.

E# Iy 8. Suppose you are told that the cross-price elasticity of demand for hamburgers with respect to
ALY N the price of hotdogs is 0.30. Then, suppose that the quantity of hamburgers increases by 30%.
DEFNiTIoN Holding everything else constant, the price of hotdogs must have:

a. Increased by 10%.
@Inoreased by 100%.

Mot HA22 9. A monopolist has a marginal revenue curve given by the equation:

JF You HAVE MR =100 - 2Q

A A _ From this information you infer that this monopolist will maximize its total revenue when it:
GRATPOF @Q:harges a price equal to $50. (See cyplenatm btloes )

CONCEPT™ %, Produces a quantity less than 50 units.

Jomewtsr 10. A perfectly competitive firm finds that when it produces 30 units, its average cost is greater
HArzpvepz ! than its marginal cost. When this same firm produces 40 units, its average cost is less than its
mur7 £€  marginal cost. From this information, you can infer that:

Azie o The firm should definitely not produce 30 or more units of output. S W
JySuntsZE |b)The firm's break-even level of output must be greater than 30 units or less than 40 units.
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I1. Multiple choice (20 questions worth 3 points each, for a total of 60 points)

MNothard=> 11. Jonah has two job offers starting in 2017 and his only concern is selecting the job offer that
put will give him the greater real income in 2017. He knows that San Francisco is an expensive city
numbirt o live in and he has looked up the CPI for San Francisco for 2017 and finds that the CPI for San
,}‘Q e b”if Francisco measured on a 100 point index is projected to be 450 for 2017. The same data source
-y lists Houston as having a projected CPI for 2017 as 420. The two jobs offer salaries for 2017 of
$60,000 in San Francisco and $50,000 in Houston. Given this information and holding
everything else constant:
a. Jonah will be equally well off with the two job offers in terms of his real purchasing power. X
@J onah will be have greater real purchasing power if he takes the job in San Francisco.
c. It is impossible to compare the real purchasing power given this information since no base
year has been determined and that means we cannot compute a constant dollar salary
comparison. A
d. A dollar is a dollar and therefore Jonah should always take the higher salary offer no matter
what the CPI index number for a community is< This v nol Gfecray £ frue
MorRE DI A cuur
50/)9(; 12. Consider the market for Badger T-shirts that can be described by the following demand and
weric supply equations where P is the price per Badger T-shirt and Q is the quantity of Badger T-shirts:
Here ¢ Demand: Q=100-2P =» 2rP=2400-Q => F=50~ T Su-t@ =40~
Supply: Q=10+4P = 4P R-lo = P> £Q" 4 G o
Suppose that the government limits the number of Badger T-shirts that can be sold to 50 T-shirts.
Given this information and holding everything else constant, what is the value of consu%nGer :?e

Pe =
S12%0 F Q=59 contumesspey = 2°
b. $375 (S Pbon @=C0 = SV .
$184.50 S =4 (sv->r)(fe)
. $184. LY o
#u, - Cihy o g P Wowannel Income  1eest Oncor
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Mot hard ! 13. You are told that incomes have fallen by 15% due to recent economic events. You are also
s f told that the income elasticity of demand for bananas has a value of 4 while the income elasticity

‘;//"f‘f"" h 2 of demand for Ramen noodles have a value of -2. From this information you can conclude:

ﬁrﬂm v ® That Ramen noodle consumption has risen by 30% while banana consumption has risen by

7 b 60%. X, i s
[rrtr - b. That Ramen noodle consumption has fﬁ%?l by 30%while banana consumption has fallen by

re s 0
2™ 60%. F

. X
)/‘ get! c. That Ramen noodle consumption has fibl@n by 30% while banana consumption has risefi by
Qn Swer £ ﬁeﬂ
60%. M3 “

Cd)T hat Ramen noodle consumption has risen by 30% while banana consumption has fallen by

60%. v ((See comk boelons)

f OME 14. Consider Henrietta's consumption pattern this summer in Boise. She enjoys buffalo burgers
Tit InfInG. a0d milkshakes. The buffalo burgers cost $10 each and for the last buffalo burger she consumed
HERE - she received 12 utils of satisfaction. The milkshakes cost $4 each and for the last milkshake she
BT NOT consumed she received 6 utils of satisfaction. Given this information and holding everything else
HArD constant, this means that: Henrietta should since her marginal utility per dollar spent on
buffalo burgers is less than her marginal utility per dollar spent on milkshakes. As she changes
her consumption bundle, her additional marginal utility per dollar spend on milkshakes will
____. She is purchasing the optimal combination of milkshakes and buffalo burgers when the
marginal utility per dollar spent on buffalo burgers is equal to the marginal utility per dollar

spent on milkshakes.
. buy more buffalo bu.rgerz;(incre§
@buy more milkshake;; decrease

¢. buy more milkshakes; j crease.x

d. buy more buffalo burggs; decrease

b A& 3-..»“‘.. - Zﬂ_gxﬂ“’a =) 24@;‘“:’4625
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ENS y’ 15. Consider the market for elite college educations (say the Ivy League and a small group of
"near Ivy League" schools). It is widely believed that attending and graduating from one of these
schools results in exceptional lifetime outcomes. If this belief is widespread then which of the
following price elasticity of demand values do you think is most likely to measure the demand

for elite college educations?

(a.0.04 Susger & peoph cnll foe for e MaenssPhe =
b.0.99 Yzo clopeth [ X re mujwff//aumlwﬁc
c. 1.40 4 $ éé’ z/
d.2.40 %

Jusr 16. The demand curve given for a good is: Q =50 - (1/2)P. Suppose that initially in this market
ﬁf}/o/yﬂl the price of the good is $60 per unit. Given this information and this demand curve, producers in
Elast ,% this market know that if they charge a price than their revenue will

¢ Af=l" a. greater than $60 per unit of the good; increase decreant

rewvenve b lessthan $20 per unit of the good,; mcrease}(tf:/a" #20,9%> Yo = 1= goo ;f,,?/ﬁlf

Cd’ﬂﬁlp‘&) c. greater than $60 per unit of the good but less than or equal to $100 per unit of the good; /e Ze.
mc?t;é@se dex/(,a&*f ath y“
Uless than $60 per unit of the good but greater than or equal to $50 per unit of the good; /~
increase v~ . 7 d,&(fmm ot frear

}ﬁh:‘hwﬂ 17. An unregulated monopolist will:
(a/)Produce too little of the good and charge too high a price for the good. D(.ﬁn A
b. Will produce a quantity where the marginal cost of producing an add1t1onal unit of the good is
greater than the marginal revenue from selling an additional unit of the good. /Vo MR =M C kT max.
c. Will produce a higher quality good than will a perfectly competitive industry /‘/0 w Mm/?&?‘f}l"h‘\
d. Imposes no allocative efficiency costs on society. & Als, There &2 DWL 1 pin U/z};uf/aﬁ J

f o 7Y

[@=50-% . s@f
2P? s -Q 174 é}w ba v ¢
= /t_m:‘tc() "‘
T 7 F=60 = ‘ s >
772 = 60 (20)=/r00 Lo 5t @
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Use the following information to answer the next TWO (2) questions.
/

Consider a small, closed economy that produces bottles. This country knows that its domestic
emand curve is given by the following equation where P is the price per bottle and Q is the

number of bottles: . Ab0 = cra_-L
_ Domestic Demand: Q = 600 - 200 P — L/ * 3- 55,4

You are also told that the domestic supply curve is linear and that the domestic producers know
that when the price of a bottle is $1, they can supply 100 bottles. You are also told that for every
$1 increase in the price of a bottle there is an increase in the quantity supplied of 100 bottles.

MNoT HA7D: 18. Given the above information and holding everything else constant, which of the following
f D AR Statements is true?
QP TION ~ I. Producer surplus is equal to consumer surplus in this market. X C§>Ps
MUSTFE II. When this market is in equilibrium total surplus is equal to $300.
ALE 7O GET III. If the world price for bottles is $2.50, domestic cong(zﬁers will be in favor of opening
SDows PUCH / this market to trade. Joreliacary
a. Statements I, II and III are all true statements.
Statements 1 and Il are true statements.
(bStatement IT is true.
d. Statements I and IIT are true statements.

SaméE 19. Suppose that the world price of bottles is $1 per bottle. Suppose that the market for bottles is
w2/ opened to trade and at the same time, a tariff is implemented that raises the price per bottle to
/E2E $1.50 in this market. Given this information and holding everything else constant, domestic

producers will produce bottles and the deadweight loss associated with using higher cost
domestic producers will equal .

a. 50 bottles: $25 *
(b)150 botdles; $12.50 7" o
c. 50 bottles; $125 ~ Puroeld”
d. 50 bottlés; $12.50°

$ pe~

(¢ = £(3-2)(300)
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E/H'y 20. The marginal cost curve: Lrc
/ -~
/ a. Intersects the average total cost curve at the minimum point of the magghﬁl cosbt/ curve. X
b. Intersects the average variable cost curve at the minimum point of the ma‘rE(ﬁl cost curve.
c. Intersects the average total cost curve a‘tzpv’e the minimum point of the average total cost
o~ courve. K ot
@ Intersects the average total cost curve at the minimum point of the average total cost curve.

mC




Use the figure below to answer the next TWO (2) questions.

The figure below depicts an individual's indifference curve map as well as two budget lines.
Assume that point C represents where this individual would go if he were facing the prices
implicit to budget line 2 (BL2) but had his income adjusted so that he could achieve his initial
level of satisfaction (IC1).

Quantity of
Good Y

40

a0

20 9

s 38 10 20 Quantity of

Good X
Ahrt 21. Gi\}en the above graph, which of the following statements is true?
Challe ,:j,;v jthe initial situation is depicted as BL1 and you know that the price of good Y is $0.50, then
the price of good X is $1. +~ purcha OX

II. In comparing BL1 and BL2 we can note that there has been a change in the level of income”

éI})‘ he income effect given the above graph is equal to a Wf 3 units of good X. £ 4 5%
IV. The income effect given the above graph is equal to a decrease of 2 units of good X. X v H%%
a. Statements I, 11, and III are all true statements. o
. Statements [, Il and IV are all true statements.
"'éStatements I and III are true statements.
d. Statements I and IV are true statements.

( Aﬂ//\-’"j’}fj", 22. Given the above information, if you knew that the initial level of income (used in constructing BL1)

R was $80, what would be the increase in income this individual would need in order to be able to consume
Thés o bundle C?
-ﬁ/éef ra.$24 aqc ,7 ,0)( = .8 ¥ A can /M»y 4‘7:.1,447‘?#%

ﬁ”u ®$44 /‘,gan ét/ i 3 %I/ foa rhrcome '&2’0")
#,ﬁjnl./ c. $144 //ﬁ /I?LJ)MA WV /Y/ =) Aea Ae co ?
d. $56 /_5,,74 MMrZ Laf/m;lr7XZ/Q ‘“‘fy‘f"’“ff)(

ﬁ? /523 : Do = 7

/a)/ /X/: g f
Joﬁ[,z- éﬂmm = §0 /)/ A2

=HE S Svori - ‘F(f) 6%
ﬂ i fSundle M‘?;’(/mf: y = P0(r) = o
S A /2 y

/4¢d~¢a/uzh/hw = /2% - 5o ,,_;g%/%z 4
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9.9

Use the following figure to answer the next TWQ (2) questions.
The figure depicts the cotton market for Zandia which is a small, open economy. You are told
that the domestic supply curve is:

. 17
r P a5 acamcy o)
Domestic Supply: P =.1Q _7/4, OQ DM ’:) / £ 7O =) aq’

g ok 75
Market for Cotton in /O = %% "0 Q/
Zandia
Price of Cotton Note: graph is not drawn to scale,
pet Pound but both domestic supply and
domestic demand curves are
linear
50.90 J
Domestic Supply ;{" N‘E"L_{vﬂn /0 bed ¢
: e
P Z_L@=c®
d/‘"{/ r l 1% ¢
L
- ,Z(aw-" ————— ")U‘J /“M, 9 —a =q
9 719
$0.20 | World Price 5;¢ s =@
Domestic Demand = #
i 4 :\ omestic Deman P: ;é_(?r)_' l{&
2 7 9 Quantity of Cotton (measured in - CA -2,
billions of pounds) QWL ¢ ?S 10) )

Some 23. In the above figure, if this market is closed to trade and we calculate total surplus we get one
werR/A value. If the market opens to trade, the total surplus is a different value. The deadweight loss
from this market being closed to trade is the difference between these two values. What is the

deadweight loss of this market being closed to trade? = (.32 )(2-5)
a. $0. 20 =8 L 25
(b.30.625 (Su. ek )

c. $0.45

d. $0.3125

Sume 24. In the above figure, suppose the world price of the good rose to $0.50 and the market was
Wort/S,  opened to trade. Given this information and holding everything else constant, this economy
sza would

MOT a impogzero units of the good L.
i = 7 4S =) /
[ArRD b impoft'one unit of the good Sthee Feroted A F e
\c.) export one unit of the good /ﬂp«ay td & SO W rwaeks
. export 5 units of the good ) 5 r A ade, Thes

Cé uﬂ)(f/ W/yff)(/?ﬁ -7

/)[/n/w/«’f £ §g, ,
8 ¢p = @M.m #,50= g-—fa@nm

‘{0" —'/T ; o CQDM"'
=9~ 6)00-"
) o
Eﬁ”"'hf@om s — Loom =7 12
at v

Eypett=5-C1



De 7[11'\: ﬁbntﬂ 25. Which of the following statements is true about marginal cost?
I. Marginal cost represents the addition to total cost from producing an additional unit of
the good. v Defimine -
II. Marginal cost represents the addition to total cost from s%g an additional unit of the
good.

I11. Marginal cost ypresents the addition to variable cost from producing an additional a{
unit of the good. o back hke [ column Yahle O prostuctivnan

a. Statements I, II and III are all true statements. cost h see Fhit

b. Statements I and II are true statements.

‘c. Statements I and III are true statements.

d. Statement I is a true statement.

NfovL}Mro( 26. Consider the market for blenders in a small, open economy. You know that the domestic
demand and domestic supply curves for blenders are given by the following equations where P is
the price per blender and Q is the quantity of blenders given in billions:

Domestic Demand: Q =510 - 2P

Domestic Supply: Q =150 + 2P
Furthermore, you know that the world price of blenders is $30 per blender. Suppose this small
economy imposes an import tariff on blenders such that imports equal 160 blenders. Given this
information and holding everything else constant, then the imposition of this tariff caused the
quantity of imports into this economy with the tariff to:
a. fall by 160 blenders. . S'Da-
(b.¥fall by 80 blenders. \ 4
c. fall by 40 blenders. S i
d. fall by 200 blenders. '

20

!’}[ﬂw = 0 =2
B = $10-2(70) = §1v-60= ¥50
Q54 2tSOF>(3)= [S2160=2/0
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/\/arl fro  27. Assume a perfectly competitive industry, with constant returns to scale, that is initially in
ha - - long run equilibrium. Now suppose there are fewer consumers in this market. This indicates

. ~ demand for the good. In the short run, the market price will ~ and the market output
/f:j;'c of will . Inthe long run, the market price will and the market output will

C'ﬂ"?uf% Ina, Mor& increase relative to its initial level; increase relative to its initial level; increase relative
to its,initial level; return to its original level
b. Mo)é’; increase relative to its initial level; increase relative to its initial level; return to its
_original level; increase relative to its initial level o
c.) Less: decreasefelative to its initial levef;/decreas?/relative to its initial level; return to its
original level; decrease relative to its initial level
d. Less; decrease relative to its initial levet;/iancre%e relative to its initial level; decrease relative

to its initial level; incrgase relative to its initial level G’C‘ SHhph's Kt J

fasee 28. Assume a perfectly corﬂpetitive industry. In the short run suppose that the market price for

cma/gﬁ the good is $10. You also know that the minimum point on the average variable cost curve
occurs at $6 per unit while the minimum point on the average total cost curve occurs at $11 per
unit. From this information you know that in the short run, firms in this industry and in the
long run, holding everything else constant, there will be JT

a. earn positiz economic profit; entry of new firms into the industry Cara M&"ﬁ*"

b. earn positiVe economic profit; exit of existing firms from the industry ton: 1T S e

c. earn negative economic profit; yiry of new%_rms into the industry w P< mmATC

@Jeam negative economic profit; exit of existing firms from the industry =Dn LE X /M(f
exiF-of frrms

A

€ e

14



29. Consider a market with a downward sloping market demand curve that can either be served
by a perfectly competitive industry or by a monopoly. Holding everything else constant, which

of the following statements is true?

I. Consumers of this good would prefer that the market be a perfectly competitive market.

II. A monopoly will produce m\(tﬂe of this good than will be produced if this industry is a
perfectly competitive market.
I1I. Both production scenarios will be allocatively efficient as long as there is a market to

provide the good. X /= [ b, with nongpaly

~a )Statermnent T i 1s a true statement.

“b. Statements T and III are true statements.
c. Statements II and III are true statements.
d. Statement III is a true statement.

30. Suppose the perfectly competitive market for good X is initially in long run equilibrium.

e w.lf

D WL

Then, suppose the price of a complementary good to good X increases due to increased costs of

production for the complementary good. Given this information and holding everything else

constant, which of the following statements is true?
I. In the short run, the price of good X will néé. ‘(j"’

Lﬂ)ln the short run, the quantity of good X produced in the market will fall. ./ (})l Vs Q)
1I1. In the long run, the price of good X will rise relative to its initial level. )’ 4 Pt burns h

IV)In the long run, there will be fewer firms in the market for good X. ¢~
a. Statements | and 11 are true statements.
b. Statements II and III are true statements.

e~Statement I1 is a true statement.

®$tatements Il and IV are true statements.
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Section I1I: 2 Problems (worth a total of 20 points)
Problem 1 (worth a total of 10 points):

The figure below represents the market for a good that initially is in equilibrium. Assume that
both the demand and supply curves are linear.

Price of Good T
Note: Graph is not drawn to scale
100 | 3
3
Pl 2 855
50 /
2% 1
20
D
der 100 200 Quantity

; ; 0 ; : . s
a. (1 point) Given the above graph, write an equation for the market demand curve in y-intercept
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b. (1 point) Given the above graph, write an equation for the market supply curve in y-intercept

form.
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Suppose the government levies an excise tax on producers of $8 on the sale of this good. You job
is to analyze this tax.

¢. (2 points) With this excise tax, what is the price that consumers will now pay for the good?
Show how you found this price and provide an explanation of your work for full credit.
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d. (2 points) Given this excise tax, what is the value of producer tax incidence, PTI? For full
credit show your work and provide an explanation of what you are doing.
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e. (2 points) Given this excise tax, what is the value of the deadweight loss, DWL, due to the
imposition of this excise tax? Show your work for full credit.
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f. (2 points) Given this excise tax, who bears the greater economic incidence of the tax? Provide
a full explanation for your answer with supporting evidence. Use complete sentences!
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Problem 2 (worth a total of 10 Points):

Oliver spends all his income on goods X and Y. He does not buy any other goods. Oliver’s
income is $120, the price of good X is $2, and the price of good Y is $3.

a. (2 points) Find the equation for Oliver’s budget line based upon the above information, and
then draw this budget line in the space below. Make sure your graph is completely and carefully

labeled. Find the x and the y intercepts for this budget line. o 2
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b. (2 points) Given the above information, which of the following bundles can Oliver afford?
Show your work.
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¢. (2 points) Given the above information, find the bundle that will maximize Oliver’s utility if
you know that marginal utility from good X is 1/X and the marginal utility from good Y is
constant and equal to 1/20. Show your work.
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d. (2 points) Find the bundle that will maximize Oliver’s utility if you know that the price of
good X has increased to $4. Assume there are no other changes to Oliver's income, the price of
good Y, the marginal utility from good X, or the marginal utility from good Y. Show your work.
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e. (2 points) Using the optimal consumption bundles you found in parts (c¢) and (d), find the
equation for Oliver's demand curve for good X and then draw this demand curve in the space
below. Assume that the demand curve is linear.
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